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1. Answer the following questions about heritability estimates.

(1) What do they measure and how are they obtained? (5 %)

(2) What are their limitations, with respect to (a) how their accuracy has been challenged, (b} how
they can be easily misapplied, and (c) how their usefulness is seriously limited? (6 4-)

2. Answer the following questions about make-believe play and theory of mind.

(1) What are the benefits of make-believe play for children’s development in general moooa&nm to
Piaget’s view and according to the current view that regards Piaget’s view as too limited? (5 %)

(2) According to Henry Wellman’s theory and findings, what is the typical course of children’s
theory-of-mind development and what explains the developmental change? (10 %)

(3) How may the experience of make-believe play contribute to young children’s development of a
theory of mind? (4 47) ‘
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